
DU-PQ-0008-10 Rev B 10/28/04 GCX Corp. Page 1 of 2 

GCX Mounting Assembly Installation Guide  
 

Wall Mount M-Series – PolyQuip Post Assemblies – 1” Diameter Up Post or Down Post  
 
 

The purpose of this guide is to describe the attachment of the PolyQuip Post to the top or bottom of the M-Series Arm. 
 
Parts Reference 
The following parts and hardware are provided for this procedure: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Tools Required:  5/32'' hex key (provided). 
 
 
 
 
 

Attaching the PolyQuip Post to the Top of the M-Series Arm  
 
1. Using the 5/32'' hex key provided, fasten PolyQuip Post to upper swivel fitting with three (3) #10-32 x 9/16” SHCS. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Item # Description Qty 

1 PolyQuip Post  1 

2 #10-32 x 9/16” Socket Head Cap Screw (SHCS) 3 

3 1/4-20 x 1/2” Button Head Socket Cap Screw (BHSCS) 1 

4 1/4 x 1.375” OD Fender Washer 1 

5 5/32'' Hex Key 1 

6 Lexan Cover, 2'' Diameter 1 

#10-32 X 9/16” SHCS (3) 

PolyQuip Post 

Upper Swivel Fitting 



DU-PQ-0008-10 Rev B 10/28/04 GCX Corp. Page 2 of 2 

Attaching the 1” Diameter Post to the Bottom of the M-Series Arm  
 
1. Remove plastic bolt cap from bottom of Arm. Using the 5/32'' hex key provided, fasten PolyQuip Post to lower swivel 

fitting with three (3) #10-32 x 9/16” SHCS. 
 

 
 

 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
2. Remove black plastic post cap from end of Down Post (below left). Using the 5/32'' hex key, fasten the 1/4 x 1.375'' 

washer to bottom of Post with one (1) 1/4-20 x 1/2'' BHSCS (below center). Installation Note: An adhesive-backed 
Lexan Cover (below right) is provided to cover the mounting holes in the upper swivel head if desired. 

Lexan Cover

1/4-20 x 1'' BHSCS 

1/4 x 1.375'' Washer 

#10-32 X 9/16” SHCS (3)

Lower Swivel Fitting 


